
COMPONENTS

INSTRUCTIONS

A

G

C

HARDWARE & TOOLS

Desk Top-1pc Frame -2pcs F Support bar - 2pcs

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product!

  Screw M6*8 - 4pcs   Screw M6*15- 18pcsH Modesty Panel Bracket A - 2pcs J

                               71"x30"With Acryl ic Modesty P anel

STEP 1

I

NBF-ST-6030/NBF-ST-7230

 Astor ia  Collection  -  D esk 60"x30"/

B Modesty Panel -1pc

Tools Required for Assembly

 Philips Screw Driver

N   Allen Key - 1pc

D Frame -4pcs E Frame -2pcs

Modesty Panel Bracket B - 2pcs

K   Power Bar 1800mm - 1pc   Screw M4*14 - 2pcsL   Screw M8*25 - 8pcsM

D

E

M X8

STEP 2

G   Screw M6*8

  Screw M6*15H

  Screw M4*14 L

N
D

D

DE
C

C

N

  Screw M8*40 - 8pcsO

O X8



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

                               71"x30"With Acryl ic  Modesty  Panel

STEP 3

NBF-ST-6030/NBF-ST-7230

                              Astor ia  Col lect ion -  Desk 60"x30"/

N

F

F

M X8

STEP 4

H X18

A

STEP 5

G X4

H X18
J X2

I X2

STEP 6

L X2

K
B


